m(K+K~) bin [ MeV/c? ]

Parameter

Value

Ostat (@Symmetric) | osyst

990 — 1008 Fy 0.227 +0.081, —0.073 0.020
ds — 6, [rad] | 1.31 +0.78,-0.49 0.09

1008 — 1016 Fy 0.067 +0.030, —0.027 0.009
Ss — 0y [rad] | 0.77 +0.38, —0.23 0.08

1016 — 1020 Fy 0.008 +0.014, —0.007 0.005
Ss — 0, [rad] | 0.51 +1.40, —0.30 0.20

1020 — 1024 Fy 0.016 +0.012, —0.009 0.006
ds — 6, [rad] | —0.51 +0.21,-0.35 0.15

1024 — 1032 Fy 0.055 +0.027, —0.025 0.008
ds — 0y [rad] | —0.46 +0.18,-0.26 0.05

1032 — 1050 Fy 0.167 +0.043, —0.042 0.021
s — 0y [rad] | —0.65 |  +0.18,-0.22 0.06




